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QUESTION 1

Which three options are available during the Anaconda installer disk partitioning setup stage for a machine with only one
hard disk device? 

A. Manual resizing of existing partitions on only a single device 

B. Removal of all empty partitions only, leaving any Linux or non-Linux partitions unchanged 

C. Replacing of existing Linux partitions only and leaving any other partitions unchanged 

D. Replacing of existing non-Linux partitions only, and leaving any Linux partitions unchanged 

E. Manual resizing of existing partitions on all selected devices 

F. Removal of all existing partitions and creating new partitions to suit the install 

Correct Answer: ACF 

A: Shrink Current System 

Select this option to resize your current data and partitions manually and install a default Red Hat 

Enterprise Linux layout in the space that is freed. 

C: Replace Existing Linux System(s) 

Select this option to remove only partitions created by a previous Linux installation. This does not remove 

other partitions you may have on your hard drives (such as VFAT or FAT32 partitions). 

F: Replace Existing Linux System(s) 

Select this option to remove only partitions created by a previous Linux installation. This does not remove 

other partitions you may have on your hard drives (such as VFAT or FAT32 partitions). 

Note: 
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QUESTION 2

Examine the content of the mdstat pseudo file: 

# cat /proc/msstat 

personalities: [raid1] [raid0] [raid6] [raid5] [raid4] md0 : active raid1 md2[1] md1[0] 207680 blocks super 1.2 [2/2] [UU]
md2 : active raid0 sdg[1] sdf1[0] 207872 blocks super 1.2 512k chinks Md1 : active raid0 sde1[1] sdd1[0] 207872 blocks
super 1.2 512k chunks Unused devices:  

Which two statements are true about the MD0 RAID set? 

A. MDO is a stripped mirror RAID set. 

B. MDO is a mirrored stripped RAID set. 

C. If MD1 fails, so will MDO. 

D. If MD2 fails, MDO too fails. 

E. If /dev/sdd1 and /dev/sdg1 fail, MDO fails. 

Correct Answer: AD 

Explanation: MD0 is active and raid1. Md2 and md1 is spare. So it is a stripped mirror RAID set. Since both depends on
MD0, if MD2 fails, MD0 will fail too. Reference: http://linuxwiki.de/proc/mdstat 
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QUESTION 3

Which two statements correctly describe the type of Information and the behavior of files in the proc filesystem on
Oracle Linux 6? 

A. It is not possible to write to any file in the proc filesystem. 

B. The /proc/cmdline file contains the parameters passed to the kernel. 

C. Each process has a directory named for the process number in the proc filesystem. 

D. The proc filesystem contains the same hardware information that is contained in the sys filesystem for backward
compatibility. 

E. Each process thread has a directory named for the process thread number in the proc files/stem. 

Correct Answer: AB 

B: proc/cmdline This file shows the parameters passed to the kernel at the time it is started. A sample /proc/cmdline file
looks like the following: ro root=/dev/VolGroup00/LogVol00 rhgb quiet 3 

Note: 

/proc is very special in that it is also a virtual filesystem. It\\'s sometimes referred to as a process information 

pseudo-file system. It doesn\\'t contain \\'real\\' files but runtime system information (e.g. system memory, 

devices mounted, hardware configuration, etc). For this reason it can be regarded as a control and 

information centre for the kernel. In fact, quite a lot of system utilities are simply calls to files in this 

directory. 

 

QUESTION 4

Which three statements are true regarding the use and administration of su and sudo in Oracle Linux? (Choose three.) 

A. A user may use su to start a new shell 

B. The /etc/sudoers file may be edited to permit certain executables to be used with root privileges only if they are run
on certain hosts 

C. Using su-test to switch to the test user does not run the test user\\'s login scripts 

D. The /etc/sudoers file may be edited to prevent a user from using su to switch to another user 

E. The /etc/sudoers file may be edited to allow a use to execute certain root-owned executables with root privileges 

F. The /etc/sudoers file may be edited to prevent root from executing certain executables unless a password is provided 

Correct Answer: BEF 
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QUESTION 5

This MDADM output: Which two aspects can be determined from this output? 

A. A device failed and has been removed from this RAID set. 

B. It is no longer possible to write to this RAID set. 

C. Read and write performance is no longer optimal on this RAID set. 

D. This RAID set was built without a spare device. 

E. Only Write performance is no longer optimal on this RAID set. 

Correct Answer: AD 
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